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Electric	
  Dipole	
  	
  
(Resonance	
  Transi4ons)	
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Hα	


Hα	



A(Lyα)	
  ~	
  6.3	
  x	
  108	
  s-­‐1	
  
Life9me	
  =	
  1/A	
  ~	
  1.6	
  ns	
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2	
  

2	
  photons	
  with	
  	
  
sum	
  of	
  energies	
  
=	
  Lyα	



2	
  Photon	
  Transi4on	
  
(NOT	
  Electric	
  Dipole!)	
  
	
  
Δl	
  =	
  0	
  

n	
  =	
  1	
  

n	
  =	
  2	
  

n	
  =	
  3	
  
n	
  =	
  4	
  

~	
  118,000	
  K	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  0	
  K	
  

A(2s-­‐1s)	
  ~	
  8.23	
  s-­‐1	
  
	
  

Much	
  slower	
  than	
  electric	
  
dipole	
  transi9ons	
  but	
  s9ll	
  
happens!	
  

Lyβ	
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Hα	



“Branching	
  Ra4o”	
  
Example	
  for	
  Hα	
  from	
  3p	
  level	
  
(use	
  “H	
  –	
  Table	
  B”)	
  :	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  A(Hα)	
  
-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  	
  =	
  	
  0.118	
  
A(Hα)	
  +	
  A(Ly	
  β)	
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3	
  

Radio	
  Recombina9on	
  Lines	
  
Hnα	
  Lines	
  

OPen,	
  mul9ple	
  radio	
  recombina9on	
  lines	
  can	
  be	
  observed	
  within	
  
the	
  same	
  bandpass	
  in	
  the	
  radio.	
  	
  All	
  of	
  the	
  Δn	
  =	
  -­‐1	
  H	
  recombina9on	
  
lines	
  between	
  2	
  GHz	
  and	
  10	
  GHz	
  are	
  shown	
  above.	
  

An+1-­‐n	
  ~	
  	
  6.130	
  x	
  109	
  (n	
  +	
  0.7)-­‐5	
  	
  s-­‐1	
  
	
  	
  	
  	
  	
  	
  	
  	
  
good	
  to	
  within	
  1%	
  n	
  >=	
  4	
  (Menzel	
  1968)	
  

Radio	
  Recombina9on	
  Lines	
  

Quireza	
  et	
  al.	
  2006	
  	
  ApJS	
  165	
  	
  338	
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4	
  

H	
  Recombina9on	
  Rates	
  

H	
  Recombina9on	
  

CASE	
  A	
  :	
  	
  	
  Op9cally	
  thin	
  to	
  ionizing	
  photons	
  
	
  

à	
  EVERY	
  ionizing	
  photon	
  emiced	
  during	
  
recombina9on	
  escape	
  

CASE	
  B	
  :	
  	
  	
  Op9cally	
  thick	
  to	
  radia9on	
  just	
  	
  
above	
  13.6	
  eV	
  
	
  

à	
  ALL	
  ionizing	
  photons	
  are	
  re-­‐absorbed.	
  	
  
Recombina9on	
  to	
  n=1	
  do	
  not	
  affect	
  ioniza9on	
  balance	
  
–	
  only	
  recombina9ons	
  to	
  n	
  >=	
  2	
  reduce	
  ioniza9on	
  

Baker	
  &	
  Menzel	
  1938	
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5	
  

HI	
  Con9nuum	
  Spectrum	
  

T	
  =	
  8000	
  K	
  


